

MAR 3 0 2009

CONSERVATION DIVISION WICHITA, KS

Kansas Corporation Commission Oil & Gas Conservation Division

Form CP-1 March 2009 This Form must be Typed Form must be Signed All blanks must be Filled

WELL PLUGGING APPLICATION

Please TYPE Form and File ONE Copy

OPERATOR: License #: 5252	API No. 15 - <u>051-249770000</u>
Name: R. P. Nixon Operations, Inc.	0.00.07
Address 1: _207 W. 12th St	Coat Description:
Address 2:	NW - SE SE Sec. 28 Twp. 12 S. R. 17
City: Hays State: KS Zip: 6760	1 _ 990 Feet from ☐ North / ✓ South Line of Section
,	Feet from Feet from East / West Line of Section
Contact Person: Duane Achterberg	Footages Calculated from Nearest Outside Section Comer.
Phone: (785_) _656=0038	
	County: Ellis Lease Name: Schmeidler W Well #: 4
	Lease name South States Well #.
Check One: ✓ Oil Well Gas Well OG D&A	Cathodic Water Supply Well Other:
	Permit #: Gas Storage Permit #:
Regulation of the Control of the Con	Cemented with: Sacks
	07 Cemented with: <u>140</u> Sacks
Production Casing Size: 5 1/2 Set at: 3	
List (ALL) Perforations and Bridge Plug Sets:	
3422-25 3474-77 3574-77 CIBP @ 3600	0
0106 (Get/(KB) 75, 2720 ppro.	3600 Anhydrite Depth: 1332-68
Elevation: 2126 (G.L./ (K.B.) T.D.: 3730 PBTD:	(Stone Corral Formation)
Condition of Well: 📝 Good 🗌 Poor 🦳 Junk in Hole 🔃 Casing L	_eak at:(Interval)
Proposed Method of Plugging (attach a separate page if additional space is no	
	ing leak, uneconomical to produce. All options exhausted.
Otherwise as KCC recommendations.	•
Is Well Log attached to this application? Yes 🕡 No Is ACO-1	1 filed? Ves No
If ACO-1 not filed, explain why:	
And the second s	
	seq. and the Rules and Regulations of the State Corporation Commission
• • •	Duane Achterberg
	City: Hays state: _Ks zip: _67601 +
Phone: (785) _656-0038	
	Name: R.P. Nixon Operations, Inc.
	Address 2:
	State: <u>Ks</u>
Phone: (-785-) _628-3834	
Proposed Date of Plugging (if known): As soon as possible	
Payment of the Plugging Fee (K.A.R. 82-3-118) will be guaranteed by Chate: 3-26-09 Authorized Operator / Agent:	Operator of Agent
Date: 3-26-09 Authorized Operator / Agent:	prime willing

ALLIER CEMENTING C.D., INC. 9185

TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT
	ranin ar chap a siri na ag banin na Danadak sheka rang n
DATE 1399 SEC. TWP. RANGE CALLED Sic.	0Am 11:15 Am 12:15PM6:45P
Company Wes Town Control A-1120	V2 F3'4N'2W Ells KANSAS
LEASE CHAIDLE WELL# LOCATION AT HERINE OLD OR NEW (Circle one)	A E - AN A W LITTLE STATE OF THE STATE OF TH
The state of the s	operation of the control of the California Calabara and C
CONTRACTOR JAY - LAN OW	NER
TYPE OF JOB VORT COLLAR (CIRC-CEMENT)	MENT USER AP
The state of the s	
CASING SIZE 5 2 DEPTH AMO	OUNT ORDERED <u>HOUSK 140 6 10 bie C</u>
DRILL PIPE DEPTH DEPTH OF CON	A Skin Siring material and a contract of the c
TOOL BORT COVER @ DEPTH 1338	
	amon <u>150 @ 635 052</u> 5
The state of the s	MIX 400 @ 35 325°
CEMENT LEFT IN CSG.	
PERFS. CHI	ORIDE@
DISPLACEMENT	w.d. 4 @ 5 <u> </u>
EQUIPMENT	@
RECEIVED	
PUMP TRUCK CEMENTER KANSAS CORPORATION COMM	ISSION
スポルスがくなが ない。 かんしょう こうこう ストルース・ストルース・ストルース・ストルス (1992年) 1992年 19	kirka i filika i na mangan ngan ngan na mangan katang mana 🧢 na angan na mangan kirka i filika na angan na angan kirka na
BULK TRUCK MAN 3 6 2004	ndling@ 1<i>°</i>5 420≥ Eage 441S0 1000 240≥
# 291 DRIVER W/ CONSERVATION DIVISI	ORACE ACT STATIONS
BULK-TRUCK WICHTA.KS	TOTAL 2083
# DRIVER	y college y a contribution of the transfer of
The half was during a against strong of the control of the contained the	A Transfer from a reference in the property of the contract of
REMARKS:	SERVICE
BRIDGIF Plya @ 3190' RAN DOWN TO	
	TH OF JOB
TO SOO# (Held) Spot 2 SK SAND. PUN	IPTRUCK CHARGE 585
Pullen up Port Collet @ 1332 EXT	RA FOOTAGE @
CPENED PORT COHAR, MIXED appROX. 2505K MIL	EAGE 15 @ 28 5 42.7 5
CPENED PORT COLLAR, MIXED APPROX. 2505K MIL CEMENT - Cement & RCULATED BROWND PLU ANNULAS CLOSED PORT COLLAR TEST TO 500#	[G
ANNULAS. Closed PORT COLOR TEST TO SOOT	
HELD) WASHED TIBLIE CLEANS RAN IN WICATCHEL ALLIASHED SAND OFF, BRIDGE PLUT, THANKS	<u>@</u>
A CONSTRUCTION THONKS	
CHARGETO: B.P. NIXUAL OIL OFERATIONS IN	total <u>422.75</u>
的复数形式 医多种皮肤 医多种性 医二氏性 医多种性 医多种性 医多种性 医多种性 医多种性 医多种性 医多种性 医二氏性 医二氏性 医二氏性 医二氏性 医二氏性 医二氏性 医二氏性 医二氏	
STREET ZOT W 17th	FLOAT EQUIPMENT
CITY Nows STATE Y STATE ZIP STAGE	arthur an aire ann an Taonach an t-airean an t-airean an t-airean an t-airean an t-airean an t-airean an t-air
	and the second control of the second control
	erson variante a la companya de la c
	(a) (b) (c) (c) (c) (c) (c) (c) (c) (c) (c) (c
en Kampengara y an ara anadoro antan atrono rea serbah seria kandara da katana da ka	$\hat{\boldsymbol{o}}$

ALLIED-CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

Invoice Number: 076926

Involce Date: 01/26/98

R. P. Nixon Oper., Inc.

To: 207 W. 12th Hays, KS 67601

RECEIVED KANSAS CORPORATION COMMISSIO

MAR 3 0 2009

CONSERVATION DIVISION WICHITA, KS

Cust I.D..... Nixon
P.O. Number..: Schmiedler W4

P.O. Date ... 01/26/98

Due Date.: 02/25/98 Terms..... Net 30

mmon	150.00	SKS	6.3500	952.50 E
)Zm1x - distriction with meaning and section	~~~~100.00 ~~~~	SKS	3.2500	325.00 E
${m j}$	13.00	SKS	9.5000	123.50 E
ind	4.00	SKS	5.6000	22.40 E
ındling	400.00	SKS	1.0500	420.00 E
.leage (15)	15.00	MILE	16.0000	240.00 E
400 sks @\$.04 per	sk per mi			
ort Collar	1.00	JOB 🗝 🧼	580.0000	- 580.00 → E
leage pmp trk	15.00	MILE	2.8500	42.75 E
			a stanta de la companya de la compa	
1 Prices Are Net,	Payable 30 Days	FollowingSubtot	- 2 1 • with the three transfer and the contract of the contra	······································
te of Invoice. 1 1 Account CURRENT ta	/2% Charged The	reafter. Tax	N. P. P. San Standard Commencer Comm	0.00
LY if paid within	30 days from In	voice Date Total.	ICS:	
		The state of the s		有效的体系的的, ,有人不可以可能的是一个

Cement port collar.

Received		
Lease/N/	Schmerd/e	16 #4
0	Ck, #	
Pri	Vende / 00	<u>75</u>
0p. 23	10.23 April 505 20	0.000
Ben D	- Onc	



Kathleen Sebelius, Governor Thomas E. Wright, Chairman Michael C. Moffet, Commissioner Joseph F. Harkins, Commissioner

NOTICE OF RECEIPT OF WELL PLUGGING APPLICATION (CP-1)

NIXON, R P OPERATIONS, INC 207 W 12TH HAYS, KS 67601-3810 April 02, 2009

Re: SCHMEIDLER W #4 API 15-051-24977-00-00 28-12S-17W, 990 FSL 990 FEL

ELLIS COUNTY, KANSAS

Dear Operator:

This letter is to notify you that the Conservation Division has received your plugging proposal, form CP-1, for the above well and has reviewed the proposal for completeness. The central office will now forward your CP-1 to the district office listed below for review of the proposed plugging method. Please contact the district office for approval of your proposed plugging method at least five (5) days before plugging the well, pursuant to K.A.R. 82-3-113(b). If a workover pit will be used during the plugging of the well it must be permitted. A CDP-1 form must be filed and approved prior to the use of the pit in accordance with K.A.R. 82-3-600.

The Conservation Division's review of form CP-1, either in the central or district office, does not include an inquiry into well ownership or the filing operator's legal right to plug the well. This notice in no way constitutes authorization to plug the above well by persons not having legal rights of ownership or interest in the well.

This notice is void after September 29, 2009. The CP-1 filing does not bring the above well into compliance with K.A.R. 82-3-111 with regard to the Commission's temporary abandonment requirements.

Sincerely,

Steve Bond

Steve Bond

Production Department Supervisor

District: #4
2301 E. 13th

Hays, KS 67601 (785) 625-0550